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e E[Xl] —lQ—d
—c)? —c —c
© V[X] = E[X? - ElX']2 = Uh. VIX] = 2 o~ 4.
L03-Q2
Quiz fRE B A — DT DS
Q@ X ~ U(18,20).
Q@ E[X!] =19 [mm].
Q E[6X?] = 2168 # 6 - 19% = 2166 [mm?].
Q P(6X2 <2000) = P(X < (200)1/2) = f1(92000/6)1/2 70-18 dz =

5,/10/3 — 9.
@ E[X3] = 6878 # 19% = 6859 [mm3].
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~E[X?] +2E[X] - 3E[1] 2 ~13+2.2-3-1=—12.
@ V[-2X — 3] & (-2)2V[X] = 36.
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E[X] = b,
V[Y] = a?.
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loc(ation)=77 DALE, scale=7) DIE

1 from scipy import stat

3 stats . Eﬁzfiﬁj\?ﬁ%(loczfﬁ%, scale=Mg).pdf(x)

4 # RBEHHER

5 stats . BER DG (loc=fIE, scale=M&).cdf(x)

6 # > FI

7 stats . X9 7Fﬁ%( oc=fI B, scale=Mg).rvs(size=H > FILH 1 [X
8 MEDHBICLEDNSSVALBHEZ T TIILTAXE WET 3|
9 # BTG E

10 stats . FEE DM % (loc=U B, scale=M&).mean()

1 # B9

12 stats . X DTG (loc=fLBE, scale=M&).var()

13 # BIEERE

14 stats . HER DA H (loc=fIE, scale=M&).std ()

15 # BHRFE

stats . XD % (loc=AIE, scale=Ig).expect ()
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https://docs.scipy.org/doc/scipy/reference/stats.html
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scipy.stats, uniform() expon() norm()
FD51# | loc=c,scale=d — ¢ | loc=b — a,scale=a | loc=b,scale=a
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BEZ | U(=V3,V3) Exp(1,1) N(0, 12)
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Exp(b,a) (& DEEO—HILEES.
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—fiRDIEIR 9% normal distribution = of s b - et 50.5(4.23) |
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V2T

AEEDIE, BBEREHTIEIZ T2V, REnmBEHEE-T,

d d
P(c<Z§d):/ f(;0,1%) dz':/

Plc< Z <d) = F(d) — F(c)

L, F(z) Z scipy.stats.norm() .cdf (z) ’P?ﬁl?ﬁ‘ EEM B - R 1<p.2z7)‘
NERDB.

A DRUC F(—o00) =0, F(400) = 1. REERDITHEREEREMNE
BEEURD T F(2) + F(—2) = 1. IC F(0) = 1/2.

eanms wroa 1 [CIE I(2) = F(2) — 3,2 >0 ORDPE > TWVS. snuse

2<0ICDWVWTE, I(—2) =1(2) ZRBHBELTKRD 3.

FRIFER Q(2) = 3 — I(2) =1 — F(2) ORZHE THIHREDLZ L.
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Z~NO,1)ICHLT, X=aZ+b%EERS.

E[X% =1, was
p=E[X]| =E[aZ + b] =,
02 =V[X] =V[aZ + b = a?, #ms

2 0.053991 |-
(z=b) 0.004432

»

f2(2) = e s (@) = e e

V2ma?
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FEEZH X ~ N(3,22), Z ~N(0,12) £ 9 53.

QO HXRBEBHORNEES. DI/ T 7ZHTS.

Q FHEFE E[X?] R &K 5.

Q@ BEP(X>5) LELLAZEIICPc<Z<d) Ded ERDEK
S. T, HEER% Python RZE > TNHTRD LS.
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